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Method of Substitution for 
Integration with Radicals 

Worksheet 1
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Question 1


a) Find �  using the substitution �  ∫ 3x x + 4 . d x u = x + 4

https://www.radfordmathematics.com/calculus/integration/integration-by-substitution/integration-by-substitution-radical-expressions.html
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b) Find �  using the substitution �  ∫ 3x x + 4 . d x u = x + 4

https://www.radfordmathematics.com/calculus/integration/integration-by-substitution/integration-by-substitution-radical-expressions.html
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Question 2


a) Find �  using the substitution � . ∫ x2 3 2x − 3 . d x u = 2x − 3
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b) Find �  using the substitution � .∫ x2 3 2x − 3 . d x u = 3 2x − 3

https://www.radfordmathematics.com/calculus/integration/integration-by-substitution/integration-by-substitution-radical-expressions.html
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